KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION WELL COMMISSION

ORIGINAL

Form ACO-1 September 1999 Form Must Be Typed

#### **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operator: License # 32825	API No. 15 - 055-21993-00-00
Name: Pioneer Exploration, LLC	County: Finney
Address: 15603 Kuykendahl Suite 200	swsenw Sec. 19 Twp. 22 S. R. 33 East  west
	2310 feet from S / (N (dircle one) Line of Section
City/State/Zip: Houston, Texas 77090  Purchaser: NCRA  Operator Contact Person: Cynthia B. Gray	3630 feet from ( ) W (circle one) Line of Section
Operator Contact Person: Cynthia B. Gray	Footages Calculated from Nearest Outside Section Corner:
Phone: (281 ) 893-9400 x.259	(circle one) NE SE NW SW
Contractor: Name: Warren Drilling, LLC	Lease Name: Garden City "B" Well #: 10-19
License: 33724	Field Name: Damme
Wellsite Geologist: Patrick Deenihan	Producing Formation: Morrow
Designate Type of Completion:	Elevation: Ground: 2910 Kelly Bushing: 2923
New Well Re-Entry Workover	Total Depth: 4950 Plug Back Total Depth: 4871
✓ Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 356 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set 2691 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 4927
Operator:	for a decay as surface, 1025
Well Name:	41+ L-Dig-12/22/08
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content ppm Fluid volume bbls
Plug Back Plug Back Total Depth	Dewatering method used
Commingled Docket No.	•
Dual Completion Docket No.	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
07/21/08 07/30/08 7/31/08	Lease Name: License No.:
Spud Date or Date Reached TD Completion Date or	Quarter Sec Twp S. R East West
Recompletion Date Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of	th the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, ver or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply.  12 months if requested in writing and submitted with the form (see rule 82-3-s and geologist well report shall be attached with this form. ALL CEMENTING s. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regul	late the oil and gas industry have been fully complied with and the statements
nerein are complete and correct to the best of my knowledge.	
Signature: John Hour	\ / KCC Office Use ONLY
	y
Title: Hod Engl Date: 11/17/2008	Letter of Confidentiality Received
Subscribed and sworn to before me this 17th day of November	If Denied, Yes Date:
20_08	Wireline Log Received
DAMES DE BOND	Geologist Report Received RECEIVED KANSAS CORPORATION COMMIS
MY COMMISSION EXPIRES	OIC DISTIBUTION
Date Commission Expires:	NOV 1 8 2008

Operator Name: Pio	neer Exploration, LL		Leas	e Name:	Garden City "B"		Well #:10-1	9
	22 S. R. 33		Count	ty: Finney	<i>!</i>			
tested, time tool ope temperature, fluid re	n and closed, flowing covery, and flow rates	nd base of formations and shut-in pressure of gas to surface test inal geological well sit	s, whether s , along with	shut-in pre	essure reached	static level, hydro	static pressur	es, bottom hole
Drill Stem Tests Take		Yes No		<b>7</b> L	og Formatio	on (Top), Depth a	nd Datum	Sample
Samples Sent to Ge Cores Taken Electric Log Run (Submit Copy)	ological Survey	Yes ✓ No Yes ✓ No Yes ✓ No Yes □ No		Nam SEE	e ATTACHED		Тор	Datum
List All E. Logs Run:						ŭ		
CNL/CDL ME	EL, DIL, CBL					<b>V</b>		
		CASIN Report all strings se	IG RECORD et-conductor, s	✓ Ne surface, inte		ion, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)		eight . / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	24		356	Common	225	3% cc w/ 2% gel
Production	7-7/8"	4-1/2"	10.5	5	4927	C/C-lite/ASC	1025 105	10% salt, 2% gel, 5# gilsonite; 1/4# flo-seal
		ADDITION	AL CEMENT	ING / SOL	JEEZE RECORD			
Purpose: Perforate Protect Casing Plug Back TD Plug Off Zone	Depth Top Bottom	Type of Cement		s Used			ercent Additives	
Shots Per Foot		ON RECORD - Bridge P		) )		cture, Shot, Cement nount and Kind of Ma		d Depth
4	4764-4766		Magazin Prati A (1984) - 11 - 12 - 13 - 13 - 13 - 13 - 13 - 13	***************************************				
4	4770-4780							
	Size 3/8"	Set At 4808	Packer	At	Liner Run	Yes ✓ No		
Date of First, Resume 10/22/08	rd Production, SWD or E	nhr. Producing N	летоа	Flowin	g 📝 Pumpi	ng 🔲 Gas Lift	Oth	er (Explain)
Estimated Production Per 24 Hours	0il 150	Bbls. Gas	Mcf	Wate 10	er B	bls. G	as-Oil Ratio	Gravity 28.6
Disposition of Gas	METHOD OF C	OMPLETION			Production Inter	val		
Vented Sold (If vented, S	✓ Used on Lease ubmit ACO-18.)	Open Ho	· , ·	rf.· [ [ [	Dually Comp.	Commingled:		

KCC NOV 1 3 2003 CONFIDENTIAL

Garden City "B" #10-19 Damme Field Finney County API. NO. 15-055-21993-00-00

#### Tops and base of formation penetrated

<u>Name</u>	Top	<u>Datum</u>
Herington	2522	(+401)
Krider	2540	(+383)
Winfield	2602	(+321)
Heeber Shale	3832	(-909)
Lansing	3881	(-958)
Base/Kansas City	4366	(-1443)
Cherokee Shale	4513	(-1590)
Morrow	4711	(-1778)
St. Louis	4851	(-1928)

RECEIVED KANSAS CORPORATION COMMISSION



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax: (785) 483-5566

Bill To:

Pioneer Exploration, LTD P O Box 38

Spivey, KS 67142-0038



Invoice Number: 115353

Invoice Date: Jul 31, 2008

Page: 1



Customer ID	Well Warne # or Customer P.O.	Payment	Terms
PioExp	Garden City B #10-19	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
KS1	Oakley	Jul 31, 2008	8/30/08

	Quantity	Item	Description	Unit Price	Amount
	150.00	MAT	Class C Premium Plus	19.25	2,887.50
İ	500.00	MAT	Lightweight Class A	14.05	7,025.00
	2,500.00	MAT	Gilsonite	0.89	2,225.00
į	125.00	MAT	Flo Seal	2.50	312.50
	915.00	SER	Handling	2.40	2,196.00
	73.00	SER	Mileage 915 sx @.10 per sk per mi	91.50	6,679.50
	1.00	SER	Production String - Top Stage	<b>1,</b> 185.00	1,185.00
i			]	i i	,

ACCOUNT # 1000 15 WELL NAME CONTROLLED NOTO (S 15910)

DATES AFE# OSOTOOSK

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2251.05

ONLY IF PAID ON OR BEFORE

Aug 30, 2008

 Subtotal
 22,510.50

 Sales Tax
 771.90

 Total Invoice Amount
 23,282.40

 Payment/Credit Applied
 23,282.40

RECEIVED KANSAS CORPORATION COMMISSION

# ALLILD CEMENTING CO., LLC. 31576

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SEF	VICE POINT: Og:Klc	K.	
DATE ) SEC. TWP. RANGE	CALLED OUT ON LOCATION		JOB FINISH	
Circles City O	P A A A A A A	COUNTY COUNTY	STATE STATE	τ.
OLD OD VIEW CO. I.	into	Finney	189	
CONTRACTOR bygrae 18	OWNER San			KCC
TYPE OF JOB HOLE SIZE 7/8 T.D.	CEMENT		۸۱	nv 1 3 2008
CASING SIZE 415-91/16 DEPTH 4923	AMOUNT ORDERED IR D	EKS Class	C	0V 13 ZW
TUBING SIZE DEPTH DRILL PIPE DEPTH	650 SKI Lite 5 7 Gilso	wite, 14	Ploses	
TOOL 04/ DEPTH 2700		<del></del>		
PRES. MAX MINIMUM	Chas C. 150 51K1	@ 19 <sup>25</sup>	7,000 50	} <del>•</del>
MEAS. LINE SHOE JOINT	POZMIX	_ <u> </u>	- <del> </del>	
CEMENT LEFT IN CSG. 422 FT	GEL	@		
PERFS.	CHLORIDE	@		
DISPLACEMENT	ASC	@		9
EQUIPMENT	Lite 5005Ks	_@_ <del>19==</del>	7025	- <b>-</b>
PUMPTRUCK CEMENTER Have	ailsonite 250016	@ <i>894</i>	227500	2
# 422 HELPER Wayaf BULK TRUCK	Flo Seal 125/6	@ 2 3º	31250	
# 394 DRIVER LCONNY BULKTRUCK		_@		
# 373 DRIVER POST		@		
JI DELLER FAITS	HANDLING 9/53/6	_@ <u></u>	2196	3
REMARKS:	MILEAGE IE & SK- Mile	· <del>-</del>	<u>66)9</u>	Ĉ
MX 10 5K, M.H. 155Ks Ret Hole MX 475 5K, Lite, 5 Gilson to 14 Flores	?, SERVI	TOTAL	413KD	_
150 5Ks Class C", Wrol Truckey	SERVI			•
Lass. Displace 11/44 BBI Water	DEPTH OF JOB	27005	<del>ك</del>	
This Landed @ 2200 PST. DU DEC!	PUMP TRUCK CHARGE		1195	<u> </u>
800 15 CFT lit white fispleing	EXTRA FOOTAGE	_@		
- Control find Citariano	MILEAGE	_@ <i>1\</i> /C	r/c	
Think the their wagesteant,	MANIFOLD			
wajeysunit,	Million	_@	<del></del>	
CHARGE TO: Figure Explication				
crncer		TOTAL	11850	
CITYSTATEZIP	magnetic materials against experience that appear should appear the same of th			
	PLUG & FLOAT	r equipmen	T	
		@		
To Allied Cementing Co., LLC.				
You are hereby requested to rent cementing equipment				
and furnish cementer and helper(s) to assist owner or		_		
contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or		TOTAL		
contractor. I have read and understand the "GENERAL	SALES TAX (If Any)			
TERMS AND CONDITIONS" listed on the reverse side.				
,	TOTAL CHARGES			
PRINTED NAME	DISCOUNT	IF PAID	IN 30 DAYS	
SIGNATURE January				ECEIVED



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

Bill To:

POBox 38

(785) 483-3887

Fax: (785) 483-5566

Pioneer Exploration, LTD

Spivey, K\$ 67142-0038



Invoice Number: 115352

Invoice Date: Jul 31, 2008

Page:

Jul 31, 2008

8/30/08

Customer ID	Well Name# or Customer P.O.	Payment	Terms
PioExp	Garden City B #10-19	Net 30	Days
Job Location	Camp Location	Service Date	Due Date

Quantity	Item	Description	Unit Price	Amount
4.00		Gel	20.80	83.20
200.00	MAT	ASC Class A	14.05	2,810.00
200.00	MAT	Lightweight Class A	18.60	3,720.00
1,000.00	MAT	Gilsonite	0.89	890.00
19.00	MAT	Sait	23.95	455.05
50.00	MAT	<sup>'</sup> Flo Seal	2.50	125.00
460.00	SER	Handling	2.40 j	1,104.00
73.00	SER	Mileage 460 sx @.10 per sk per mi	46.00	3,358.00
1.00	SER	Production String - Bottom Stage	2,185.00	2,185.00
73.00	SER	Mileage Pump Truck	7.00	511.00
1.00	SER	Manifold Head Rental	113.00	113.00
1.00	EQP	AFU Float Shoe	434.00 i	434.00
10.00	EQP	Centralizers	51.00	510.00
3.00 j i	EQP	Baskets	169.00	507.00
1.00	EQP	Latch Down Assembly	405.00	405.00
4.00	EQP	D V Tool		4,219.00

ACCOUNT # 8-10 KS 15910 WELL HAME T

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 2142,92

ONLY IF PAID ON OR BEFORE

Aug 30, 2008

Subtotal 21,429.25 Sales Tax 877.81 Total Invoice Amount 22,307.06 Payment/Credit Applied TOTAL 22,307.06

> RECEIVED KANSAS CORPORATION COMMISSION

> > NOV 18 2008

CONSERVATION DIVISION WICHITA, KS

## ALLILD CEMENTING CO. LLC. 31575

REMIT TO P.O. I	BOX 31 SELL, KAI	NSAS 676	65			SER	VICE I	POINT:	le Ka	
<del></del>						<del></del>			/	<u>.</u> -
DATE 1/37/08	SEC.	TWP.	RANGE	CALLED	DUT	ON LOCATION	JOB :	START	JOB FINISH	<b>a</b>
City 8	WELL#	10-19	LOCATION BY	Line -6	Packies	Rd 1/20	(cou	NTY VA Est	STATE	MACC
OLD OR NEW C		<del>+×</del>	1	- Sint	7	. 75-11-	i	1	<del>- ^ /</del>	- WOO
		· · · · · · · · · · · · · · · · · · ·	2	<b>,</b>	~			•		MOV 1 3 2008
	Warn	en 1	Softa	OW:	IER Da	inl				
TYPE OF JOB HOLE SIZE	7/2 Ph	T.D	s Bottom	<del></del>	IENT				. ((	CONFIDENT
	112 - 9		PTH 4923			DERED 200	SRS	120	1/16 17/3	ga ja
TUBING SIZE			PTH		eski As		510	ailson	Are I'ma	. e
DRILL PIPE		_	PTH	<del></del>						-
	٠٧٠		<u>РТН 27<i>00</i></u>	<del>-  </del>			_			
PRES. MAX MEAS. LINE			NIMUM OF JOINT 42	FOZ	MON		@_			-
CEMENT LEFT I	N CSG.		JE 101.VI -16	FOZ	VII.X	U	@	1500	8220	-
PERFS.					ORIDE	<del></del>	@_ <b></b>	/.		-
DISPLACEMENT	35/26	ENST. 4	4 shi mus =	79% 粉usc	7	E03K5	@	18=	3220	• -
	EQU	IPMENT			ite Fi	FE SKS	_@_		2810	_
					14. 12		@_	<u></u>		-
PUMP TRUCK	CEMENT	ER_AL	a		ilsen it	1000		.69_	390	-
	HELPER	<u>Wa</u>	ni	5	UT.	195K)	_@_	2125	4585	-
BULK TRUCK			<b>'</b> )	- 23			_ @ ~			· .
# 386 BULKTRUCK	DRIVER	$-w_{i}$	<u>/</u>	$\overline{F}$	cseal	<b>5</b> 01b	@_2	سعقل	125	-
	DRIVER	•				175-47	@			•
	21121211	<del></del>			DLING_	4605/21	@_		1.704	•
	DE	MARKS:		MILE	AGE 10 4	Sty Mile			3338	7.
10.120011		<del>_</del>	al 2009X	·•		•		TOTAL	12545	
756 18205	119 /4 18 5	1/10 26	22 22 Gel			SERV	CE			
Winsh Truck &	Lines	Dick	ne 35/128824	iati		SERVI				
44 BBL Med. L	end Plugs	2 1500	15 - Plus Hel	DEP1	H OF JOE	3				
Prop DV. 450	200 pc. 100		0			CHARGE			21850	<b>-</b>
- OV TOOL	174	90161	FFT Meanil		RA FOOTA	NGE	_@_			
Dieplaning	<del>-                                    </del>		Th. 11 %.		AGE	33 <del>-</del> 10 <del>-</del> 10	_@ <i>_</i>	<u> </u>	5/12	
		1	in, way ne , the	Y MAN	IFOLD #	end furtal	_@_ _		11/3-	
		7/1	,			<del></del>				
CHARGE TO:	Piène	- EDI	crat 19N	<del>-</del>						
	,	7						TOTAL.	2809 <del>-</del>	
STREET	<del></del>									- <del>-</del>
CITY	ST.	ATE	ZIP		P	LUG & FLOA	т еоп	IPMEN	т	
				111	1-11				-	
				47	<i>,</i> ,					
				AFI	FIRET	-5he-4	@		43400	
				97 AFI IV G	FICET entraliz	She e	 @ @\$	-120	5100	
To Allied Cemen	ting Co., I	LLC.		471 112 G 12 G	FICET entraliza			-13 69	434E 510E 50)E	
To Allied Cemen You are hereby re			enting equipme	AFI IV G 3B	Float entraliz entraliz exteti		_@_{_ _@/ _@	-12 69°	4340 5100 500 4050	
You are hereby re and furnish ceme	equested to	o rent cem elper(s) to	assist owner o	1 700/ - 11-	Ficet intraliza raketi ek Hou- l' TEE		_@_ <u>\$</u> _@_ <u>_</u> 1	698	4340 5000 40500 40500 4049 00	
You are hereby re and furnish ceme contractor to do v	equested to inter and h work as is	o rent cem elper(s) to listed. Th	o assist owner o se above work v	vas	FICET entraliza exteta EK Hou-		@ <u>_</u> @ @	130 69°	4340 5100 5000 4050 424 02	
You are hereby re and furnish ceme contractor to do v done to satisfacti	equested to inter and h work as is on and su	o rent cem elper(s) to listed. The pervision o	o assist owner one above work work of owner agent	vas or	Heat entialize exteti exten l' TEE		@ <u>_</u> @ @	69°	4340 5160 5070 4050 4019 00 4019 00	
You are hereby re and furnish ceme contractor to do v done to satisfacti contractor. I have	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL	rskets ek Hou- l'Trê	ers Ass.			4340 5100 5070 4050 4249 02 4249 02	-
You are hereby re and furnish ceme contractor to do v done to satisfacti contractor. I have	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL side, SALE	refet) K Hou- L' TEE STAX (If	Any)			4340 5100 5070 4050 4050 4050 4050	-
You are hereby re and furnish ceme contractor to do v done to satisfacti	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL side, SALE	refet) K Hou- L' TEE STAX (If	ers Ass.			4340 5160 5070 4050 4249 00 4249 00	-
You are hereby re and furnish ceme contractor to do v done to satisfacti contractor. I have TERMS AND CO	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL side. SALE	EK HOUT K HOUT I' TES STAX (If LCHARC	Any)				
You are hereby re and furnish ceme contractor to do v done to satisfacti contractor. I have TERMS AND CO	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL side. SALE	EK HOUT K HOUT I' TES STAX (If LCHARC	Any)			IN 30 DAYS	· ·
You are hereby re and furnish ceme contractor to do v done to satisfacti contractor. I have	equested to inter and h work as is on and sup e read and	o rent cem telper(s) to listed. The pervision of understar	o assist owner on the above work work work of the owner agent and the "GENER"	vas or AL side. SALE	EK HOUT K HOUT I' TES STAX (If LCHARC	Any)		IF PAID	IN 30 DAYS	CEIVED  ORATION COMMISSION



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: (785) 483-3887 Fax: (785) 483-5566



INVOICE

Invoice Number: 115185

Invoice Date: Jul 21, 2008

Page: 1

KCC NOV 1 3 2008 CONFIDENTIA

Pioneer Exploration, LTD

P O Box 38

Spivey, KS 67142-0038

GARDEN CITY B 10-19

Custome Day	Service Community Community	Parale as Edication	acin is a same
PioExp	Garden-Bity #10-19	Net 30	Days
ere Moonton Handle		A SPACE DIES	
KS1	Oakley	Jul 21, 2008	8/20/08

K	<u> </u>	Carley	Jul 21, 2008	8/20/08
	第二学(CILL)			
225.00	MAT	Class A Common	15.4	The state of the s
4.00	MAT	Gel	20.80	1
8.00	MAT	Chloride	58.20	
237.00	SER	Handling	2.40	1
73.00	SER	Mileage 237 sx @.10 per sk per mi	23.70	
1.00	SER	Surface	1,018.00	1
56.00	SER	Extra Footage	0.85	1
73.00	SER	Mileage Pump Truck	7.00	
1.00	SER	Manifold & Head Rental	113.00	l .
1.00	EQP	Plug	68.00	68.00
	W	DESCRIPTION COMPANY Service  ACCOUNT # 11000-15  WELL NAME GOOD CH  AFE# DSCIDORS  DATE 1-29-0% APPROVED		15910
444 004050	DE NET DAYA	Subtotal		·

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE



Subtotal	8,081.55
Sales Tax	253.77
Total Invoice Amount	8,335.32
Payment/Credit Applied	
Payment/Credit Applied	

RECEIVED KANSAS CORPORATION COMMISSIO

NOV 1 8 2008

CONSERVATION DIVISION WICHITA, KS

## ALLIED CEMENTING CO., LLC. 31738

REMIT TO P.O. BOX 31 SERVICE POINT: RUSSELL, KANSAS 67665 TWP. RANGE CALLED OUT ON LOCATION JOB START JOB FINISH 1:30 pm 12:30Am 1200 am LOCATION By OLD OR NEW (Circle one) WALTER DAG & 18 **OWNER** SAME TYPE OF JOB SUNSAL Q HOLE SIZE 12114 356 T.D. **CEMENT** CASING SIZE 85/8 DEPTH 356 AMOUNT ORDERED **TUBING SIZE** DEPTH 2 Tocal DRILL PIPE **DEPTH** TOOL **DEPTH** PRES. MAX **MINIMUM** COMMON MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG GEL PERFS. CHLORIDE DISPLACEMENT BBLS ASC\_ **EQUIPMENT** @ **PUMPTRUCK** CEMENTER 431 **HELPER BULK TRUCK** @ DRIVER @ **BULK TRUCK** @ DRIVER HANDLING MILEAGE . 10 YSKE **REMARKS:** TOTAL 6323 SERVICE **DEPTH OF JOB** 356 PUMP TRUCK CHARGE EXTRA FOOTAGE @ .85 MILEAGE @ 790 MANIFOLD + hence @ CHARGE TO: PLONE & CUBIOLOGICA TOTAL \_1689.69 STREET CITY\_ STATE 7IP PLUG & FLOAT EQUIPMENT To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was TOTAL 68 done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side. SALES TAX (If Any) TOTAL CHARGES CORPORATION COMMISSION PRINTED NAME DISCOUNT \_ 2008 IF PAID IN 30 DAYS

CONSERVATION DIVISION WICHITA, KS

SIGNATURE